LABJNDu1 standard lightnessl*
* Yoc=Yw =

nc=100,

%1 aganpu1 =[IN[A 10+ A2 YV)I(A 20A0n)] (Ya/100<Y<=Y,0)
I \(3,6)=146/* ,(18)=332,* y(90)=517 &
p

/

* =332,22 m,=264,66
* =49, =332

application’
range
Y,=18
Yw=90

Yn=3.6

LABJINDul

tristimulus value difference

Yoc=Yw - nc=100,
I* L ABaNDu1 =[IN[(A 17+ A2nY)V(A 20A0n)] (Yn/100<Y<=Y,c)
dY=Agn(A1ntAzY)  Ay=0,017, A,=0,0058
Aonpes=L.5, Apn a=1,0, see CIE 230:2019

332 0018 41Y,-00101

| Tog(dY)=0,18 m,=0,85

application’
range
1
1Y,=18
Yw=90

Yn=3.6

log AY/Y)
S=(AY/Y)

LABJINDul
tristimulus value sensitivity
Yac=Yw  nc=100,

%1 aganpu1 =[IN[A 10+ A2 YVI(A 20A0n)] (Ya/100<Y<=Y,c)
AYIY=Ag A1 +AZYVY

~
~

log(dY/Y)=-1,99 m=-0,1o> ~ _ _
g O N,
* =332 dY,=0,18 dY,/Y,=0,01011
1

1

1Y,=18

Yw=90

~.— -application

= “rdnge

Yn=3.6

log (Y/AY)
C,=(Y/AY)

LABJNDul

tristimulus value contrast
Yoc=Yw - nc=100,

I* L ABaNDu1 =[INI(A 17 A2nY)V(A 20A0n)] (Yn/100<Y<=Y,c)
YIAY=Y/[Agn(A1ntA2RY)]

log(Y/dY)}1,99 m;=0,13 - =

52 8018 Yy -os

application’
range

R = e
YN=3.6 1 Yw=20

=
el

e
P

LABJNDu1 relative standard lightnessI*/I* ,

Yoc=Yw =100,

L aganpu1 =[IN[A 17+A2nV)V(A 20A0n)] (Ynd/100<Y<=Y,0)
1 (3,6)=146/* ,(18)=332,* y(90)=517

1 application
range
1v,=18
Yy=90

Yn=3.6

log(AY/AY,)
AYIAY,

LABJNDu1 relative
tristimulus value difference
Yne=Yw nc=100,

%L aganbu1 =[IN[A 17+A2nV)V(A 20A0n)] (Ynd/100<Y<=Y,()
AYIY,=AgrfA 1 +AgYIdY,

a;plicatijn-
_ 1 range

1v,=18
Y=90

YN=3.6

log [AYY) I (AYIY),]
SSu=AYN)AYY),

LABJINDuL1 relative
tistimulus value sensitivity
Yne=Yw nc=100,

L aganpu1 =[IN[A 17+A2nV)V(A 20A0n)] (Ynd/100<Y<=Y,()
@YIYYAYY,=(AgAg Y)Y AYIYY]

log[(dY/YY(dY/Y),]=0, m/=-0,13

=332 dY,=0,18 dY,/Y,=0,0101,

1y,=18
=Clp log

application’
range

YN=3.6

log [(Y/AY) I (YIAY),] LABJNDuL relative
- tistimulus value contrast
CrlCry=(YIAV)(YIAY), v, 2y, =

=100,

L aganpu1 =[IN[A 17+A2nV)V(A 20A0n)] (Ynd/100<Y<=Y,0)
(YVIAYY(YIAY ) =Y IYIAY ) )TA oA g Agr V) (Y/AY),

log[(Y/dY)(Y/dY),]=0, m,=0,13

=332 dY,=0.18 Y,/dY Jo~

el

range
Y,=18
Yw=90

.
1 ——
1 application
1
1

YN=3.6




